Progress test. Writing with
the passive structures .- AKnacc

Yuutens: EkatepuHa BnagumupoBHa YaoaoBa

Knacc: 10b

[ata n Bpems Hadyana: 20.04.2020 9:00 no 20.04.2020 10:30
Bpems BbinonHeHnsa pabotbl: 01:00

MakcumanbHoe konuyecTtBo 6annos: 14

MakcnmarnbHoe KOnmM4ecTBO NOonbITOK: 1

MakcumanbHoe KonmyecTBo 6annos 3a 3agaHue. 7 B. 3B 1B 3B.
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Pesynstat  Bannbl  Bpewms (MUHYTbI : ceKyHabl)  Ydawmmncs OueHka <92 «Z 205 <%=
100% 14 58:26 Oner Bonkos 7 3 1 3
79% 1 21:18 AHs MpuyLwkuHa 7 0
43% 6 37:32 AnunHa CnvpugoHoBa 3 0 1 2
Oner CbiToB He HavaTo

Codbst TynumoBa He HavaTo



